O @ & .
%} ‘ = ’ Negative eksponenter pa 10

StudentName: ExamDate: ___ ExamScore: ___
8 x 10 = 1002 =
107 = 263,9 x 1001 =
1002 = 100D =
250,1+ 1002 = 1073 =
9x10= 6x 1002 =
1079 = 1003 =
1002 = 747,5 x 1001 =
2 x 107D = g x 100D =
474,7+ 1009 = 7% 10 =
826,8 + 1001 = 1004 =
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StudentName: _ ExamDate: _~ ExamScore:
8 x 10 = 80 1072 = 0.01
107 = 0.0001 263,9 x 100" = 26.39
1072 = 0.01 1077 = 0.1
250,1+ 1072 = 25010 107 = 0.001
9 x 10 = 90 6 x 1072 =0.06
107 = 0.0001 107% = 0.001
1072 = 0.01 747,5 x 107 = 74.75
2x 1070 =02 8 x107Y = 0.8
474,7 + 10°% = 4747000 7% 10 =70
826,8 + 1007 = 8268 107 = 0.0001
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